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PART A: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer 

sheet. 

41- Tina and Shelly … to the hotel when it … to rain.  

1) are walking – start  2) were walking – was starting   

3) walking – started  4) were walking – started  

42- Which sentence is grammatically CORRECT? 

1) I was needing a taxi at 2 o’clock yesterday. 

2) I am thinking that I should sell my car. 

3) I’m having a sandwich for lunch. 

4) I was seeing Mary coming down the road.    

43- You should not … everything you read on social networks or on the Internet.  

1) guess 2) hear 

3) recite 4) believe    

44- As you know, our company puts great … on quality, not quantity.  

1) background  2) emphasis 

3) situation  4) experiment 

45- It is my … that putting music and art back into schools will help our students do better in all subjects.  

1) success  2) problem 

3) belief 4) quality 

46- He was one of more than 400 people in the UK who … last year while waiting for a donation. 

1) learned  2) developed 

3) invented  4) passed away 

 

PART B: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 

on your answer sheet. 

Queen Victoria’s life covers most of the 19th century. She became Queen of the United Kingdom in 

1837 when she was only 18 years old. Three years later, she married Albert, a German prince. They 

had nine children. Albert died in 1861. After his death, Victoria wore black clothes for the rest of 

her life. She died in 1901 at the age of 81 and is the longest reigning British monarch.    
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People’s daily life changed greatly during Victoria’s reign. Industry became more important than 

agriculture and many people moved from the country to towns to work in the new factories. At first 

the towns were dirty and unhealthy, but slowly things improved. New sewers took away the waste 

water from people’s homes. Big towns had libraries, art galleries, and parks. In 1837, only rich 

people went to school, but by 1901 education was free for everybody up to the age of twelve. 

Railways were built to every part of the kingdom. People became richer and were able to buy more 

goods. Hundreds of new shops opened. Covered shopping centers, called arcades, were built in the 

larger towns. Towards the end of the century, huge department stores opened. Shoppers could now 

buy nearly everything they wanted in one step. The adjective ‘Victorian’ describes things typical of 

the time of the Queen’s reign. Victorian values included hard work and strict discipline for 

children. The saying “children should be seen and not heard” comes from this time. 

47- Queen Victoria married Albert … . 

1) at the age of 18  

2) in the twentieth century 

3) in 1861  

4) at the age of 21 

48- Which one is NOT true according to the passage? 

1) We know exactly when Albert was born.  

2) Victoria wore black for almost 40 years. 

3) Much more attention was paid to industry. 

4) People’s living condition improved in Victoria’s reigning. 

49-  Which of the following words is defined in the passage? 

1) prince  2) arcade 

3) discipline  4) reign 

50-  From the passage, we can understand that … . 

1) Queen Victoria reigned for 64 years 

2) Queen Victoria was very strict to the children 

3) Queen Victoria was not loyal to her husband 

4) When Victoria became queen, everybody could go to school 
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